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Read the article and write a response in the boxes provided. Your response should be approximately
750 words in total. Write under the criteria headings A, B, C and D. Use clear and precise language.

Use appropriate ITGS terminology. Develop answers that demonstrate understanding beyond what is
explicitly stated in the article.

Theme: Education and training

Criterion A — The issue and stakeholder(s) [4]

1. (a) Describe one social/ethical concern related to the IT system in the article.
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Criterion B — The IT concepts and processes

2. (3

Describe, step-by-step, how the IT system works.
IT system: Using mobile technologies and WiF1i in schools.

[6]

(b)

Explain the relationship between the IT system and the social/ethical concern described
in Criterion A.
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Criterion C — The impact of the social/ethical issue(s) on stakeholders

3.

Evaluate the impact of the social/ethical issues on the relevant stakeholders.
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Criterion D — A solution to a problem arising from the article

4.

Evaluate one possible solution that addresses at least one problem identified in Criterion C.
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